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BEXEH
F=1 MR EMERNC X DA & o Bl
- PERINC X D AN
RWNZH 2 ) M Lizd 2] RAAY aat (N
Bt 36.0 50.5 135 1000 (111)
otk 27.3 56.8 159 1000 (132)
&t 313 53.9 148 1000 (243)
Cramer's 7=0.094. p < 0.05 HE[n]%=7.
F2 BRSO OEMREL EOZANIIY VRN D RO B L7

PER % (N)
B 460  (113)
it 276 (134)
AF 0 360 (247)
$=0.191*. HE[A]Z=3.
*: 5% /KUETHE.

&3 AEEERICED B LGE (1)

PERI ¥ TEAE(R = (N)
Tk 2.62 1.02 (114)
T 2.24 0.91 (136)
aEk 2.41 0.98 (250)

n =0.198. p<0.05.

K4 EEERICED B LGE (2)

PERI] ) PR e 2 N)
B 2.62 1.02 (114)
otk 2.24 0.91 (136)
aF 2.41 0.98 (250)

n =0.198%. *: 5% KUETHE.

F5 MWHEBIERO D LE (1)

T mERE ()

B 1.77 0.67 (111)
goQis 1.89 0.65 (132)
Al 1.84 0.66 (243)

n =0.086. p>0.05. HEEE=7.

z6 MEHERBIEHROT LE (2)

T EEEE (A

Bk 1.77 0.67 (111)
prQis 1.89 0.65 (132)
it 1.84 0.66 (243)
n =0.086™. ns: 5% /KUETIEHE.
HEIZ=17.



